(L1 Jl MATHEMATICS | CLASS - Il

Chapter- 12
MONEY
WORKSHEET
. Complete the following :
1. 212 rupees 90 paise = .| o\ ' (¢ ( Write in digits )

OPe NGO eEWN

100p= X |

Symbol of rupees is g (£ / 4/)

X 672.05 = Sux hundned Seventy fuyo yuapees and hre prWnte in words )
To convert from X to p we F by 100.

The money we use is also called upees

25 = g[;&' 00 p

X156.08=_ (S(p8 p

Il. Do asdirected :

1935p = X_[uztap F19:35
10.91658p = x_ 41657
a. Add the following-
X [
2617 50
725 75
58 35
+ 7 10

3408 < to
b. %31006.00 + ¥8005.50 + %9.05~ 3 3020 '5(

Take away X 468.50 fromX1057.00 - ©§%.610

[}
H

d. By how much is X 1524.75 less than X 3520.00 = /49535

o

Subtract the sum of X 478.25 and X 362.25 from X1500. =~ 46 0 O

— END ——
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